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- : H H i 43 T

iié jﬁjﬁﬂl; ﬁ;ﬁ;ﬁ 51 43 94| 15.6 | 78.4 471K B RER 41 ii 22 28 28'8 T

& B 50 4 N - :
423 EHET 45| 49 oiline 1754 e Eé\ %Qf 44 E 1 eV R
424| K5 HEN 44 50 94/ 15.6 | 78.4 474 j@Bﬂ F T 1 2 o1112.0 1 79.9
425 S JE 47 47 94/ 15.6 | 78.4 TOE e m“% uBILS 43[ 48 91]12.0 [79.0
426 ;f;(m 5 50 50/ 100/ 21.6 |78.4 - 476 E %%ﬂ 23 ig 971 18.9 | 79.0 TR
127 Hk g 19 - o i 97/18.0 |79.0
128)I[& ¥ —FR s 100216 784 el 45 52 97/ 18.0 | 79.0
429 9811 Al 50 50, 100 21.6 | 78.4 479 5;27}( 7 - o) 108120 1790
130/ L TE = IR AT R S i EFZIK FOR 52 51| 103]24.0 [79.0
431 41 HEN 50 50| 100/ 21.6 | 78.4 - 481 “Téui ﬁ% o2 ek Iy RE
432[ K _1EHh 46| 54 100 21.6 | 78.4 il i e
133k B 2 100l 51 6 178 4 0 J\{I 1R 54 55 109/ 30.0 | 79.0
345 B 2 oot e e ik %Jl %)U\ 46 44] 90/ 10.8 |79.2
435 a5 51 55 106/ 27.6 | 78.4 T 485 ﬁgﬁ = i AR AR T
T B o 106127.6 | 75.4 [ 155 Hﬂ%’ E% 48 48| 96/ 16.8 | 79.2 RE
A37| B 57 55 112]33.6 | 78.4 487 I EL 1 ol 90 16.8 | 1.2
438 |t BiFE 47 46 93] 14.4 | 78.6 488 uuji o ol oLl 102)22.8 | 75.2
439 R (B2 48 45| 93/ 14.4 | 78.6 4894 ﬁé = ob| 102 22.8 | 79.2
440| LA 35 =] 42 51 93/ 14.4 | 78.6 RE 490 )fg ;(Z > ool T
UL IR A 2 G SRR H 19000 i 44 45| 89| 9.6 [79.4 EE
4425 i@ 18] 51 99/ 20.4 | 78.6 192 %E?;EL f@% o R
R : i il 9.6 | 79.4
e 8 i fes i ——
445 1R F51] 52 47 99/ 20.4 | 78.6 T el AT e
16TEE = R H 29 ERES %’Z 45 50/  95/15.6 | 79.4 E
447§ H & VR 52 47 99/ 20.4 | 78.6 49 EEP E% o o0 10421.6 175.2
148 B T 52| 47 99/ 20.4 | 78.6 e Eﬁ aq o 11 2l.6 1 19.4
149 Tk A+ T % iR TR 198 ij;: = s 50 57) 107|27.6 |79.4
450 BETT 15 53| 52| 10526.4 |78.6 o g = LTl 79'4

: : RE 5001 Rk 53 54| 107/27.6 | 79.4 RE
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BRfEEH H 12024406 H 14 H (&) ~ 20244063 30H (H)
v RE 1.0 RN T D HME36.0 236. 0 [FLA—: T2 4 5 6 7 9
1 4 5 6 7 9
RS WIREA YT AaAT v b iX— 3 1 3 4 5 6 8
fEH=a—A  H Jb W 2PN MBI ESS AN A EF836 A
NERFRETTE N T AR B—=v T
JIEASE SINE K4 =l GROSS| HDCP | NET | crossii ik JEAT SN K4 1t 75 | GROSS| HDCP | NET |crosshfi e
501 | &% 5k 44 44 88| 8.4 |79.6 551 [/NEF L FIRE 58 44]  102]21.6 |80.4
502 | Fa3/K BN 43 51 94| 14.4 | 79.6 552 Bt Th= 51 51| 102|21.6 | 80.4
503 | A il FE 48 46 94 14.4 |79.6 553 A — 50 52| 102/ 21.6 |80.4
504| FAT HH#E 45 49 94| 14.4 | 79.6 554| WA HEEE 48 54| 102|21.6 | 80.4
505 #aA {554 48 52| 100]20.4 |79.6 HEE 555 Ik BEGL 51 57| 108/ 27.6 |80.4 HEE
506 | & FE 53 47]  100/20.4 |79.6 556 | 1L Bl 55 53| 108]27.6 | 80.4
507 | 7)1 & E 56 44| 100/20.4 | 79.6 YN YIS 57 57 114]33.6 | 80.4
508| £k FHlE 56 50/ 106]26.4 | 79.6 558 |BEAT {4 47 42 89| 8.4 |80.6
509 F % X 53 59 112/ 32.4 | 79.6 559 AT H H. 47 48 95| 14.4 | 80.6
510|185 #5H 44 43 87| 7.2 179.8 Y 560 | KUE ff 53 42 95| 14.4 |80.6 RE
511 /7MW =i 47 46 93] 13.2 | 79.8 561 | FIFF G 48 47 95| 14.4 | 80.6
512|1&H Feim 47 46 93/ 13.2 |79.8 562)11 F Fnz 49 52 101/ 20.4 |80.6
513k 1 49 50 99/ 19.2 |79.8 563 | HBEE Fi% 57 44]  101]20.4 |80.6
514 it &E 48 51 99/19.2 |79.8 564 |5 16+ 54 47] 101]20.4 |80.6
515 JIA 5% 49 50 99/ 19.2 |79.8 RE 565 |7k B 50 51 101]20.4 |80.6 TEE
516| =24 i1 49 50 99/19.2 |79.8 566 | g W< 52 49| 101]20.4 |80.6
517|AbRt KA 55 44 99| 19.2 | 79.8 567 P #hi— 54 47]  101]20.4 ]80.6
518 |[HE 1E3E 55 50 105] 25.2 [ 79.8 568 | EF I 51 50 101]20.4 |80.6
519/ N E5L 50 55 105/ 25.2 | 79.8 569 | &% KIT 46 61| 107]26.4 |80.6
520 | =K T#a 50 55| 105|25.2 | 79.8 B 570 |5 FEIK 54 59 113/ 32.4 |80.6 RE
5211l 54 51| 105/25.2 [ 79.8 5711178 Foth 58 55| 113]32.4 [80.6
522 A5 BHZE 42 44 86| 6.0 |80.0 572 |AFRH SEHE 58 55 113]32.4 |80.6
523 | fIE AR 44 48 92/12.0 |80.0 573 MY FraE 48 46 94| 13.2 |80.8
524 |7KEBF 3 50 48 98| 18.0 | 80.0 574 |[MA §¥E 46 48 94]13.2 |80.8
525 [f AH] 54 44 98| 18.0 |80.0 TRE 575 | B7FT A H] 51 43 94| 13.2 | 80.8 TE
526 |5k IE3E 50 48 98/18.0 |80.0 576|781 55 ] 51 49| 100] 19.2 |80.8
52T | HA K= 47 51 98/ 18.0 [80.0 577 | Nk EhE 54 46| 100]19.2 |80.8
528 |tk TRk 48 50 98/ 18.0 [80.0 578|PE L FHRE 48 58 106/ 25.2 |80.8
529 /AP == 54 44 98/ 18.0 |80.0 579 | M ik 51 55 106/ 25.2 |80.8
530k B Semst 50 54| 104]/24.0 [80.0 TRE 580 T Ry =] 55 51| 106]25.2 |80.8 TRE
531 |1k il 52 52| 104/ 24.0 | 80.0 581| & H 72k 51 55 106/ 25.2 |80.8
532|f A 5AIT 53 51 104]24.0 [80.0 582 P HE BiE 53 53| 106]25.2 |80.8
533 |l =25 57 53| 110[/30.0 | 80.0 583 | KK IESL 60 52 112]31.2 ]80.8
534 'BE N fit 54 62 116/ 36.0 [80.0 584|1LTF WK 57 55| 112]31.2 |80.8
535| =F X AL 47 44 91| 10.8 | 80.2 RE 585 | B H &k 45 48 93/12.0 |81.0 RE
536 | K E L 46 45 91/10.8 |80.2 586 | fintH BEZR 44 49 93/ 12.0 | 81.0
537161 BEih 49 48 97| 16.8 |80.2 587 |t — = 54 45 99/ 18.0 |81.0
538 AR iE 48 49 97| 16.8 | 80.2 588|FJL Bk 50 55| 105/24.0 [81.0
539 |l 2 53 50/ 103]22.8 |80.2 589 [Fi A I — 51 54 105/ 24.0 |81.0
54080 &R 50 53 103] 22.8 |80.2 T 590 2 Thih 48 57 105/ 24.0 [81.0 E
541 KL ¥EiE 50 53 103]22.8 180.2 591 |{RTHT [ 57 54/ 111/30.0 |81.0
5422 H EA 57 52| 109]28.8 [80.2 592 /=4 3k 44 48 92/ 10.8 [81.2
543 | H R B 59 50/ 109]28.8 [80.2 593 [ TEA HER 45 47 92/ 10.8 |81.2
5448k Fnz 49 41 90| 9.6 |80.4 594|dk IEZ 53 51| 104]/22.8 |81.2
545| %N B 49 41 90| 9.6 |80.4 RE 595 | AS FuZs 56 48| 104|22.8 | 81.2 TR
546| L5 B 47 49 96| 15.6 | 80.4 596 |45 A & 54 56| 110/28.8 [81.2
54T | FEE B 46 50 96| 15.6 | 80.4 597 K20 TE— 54 56| 110/28.8 |81.2
548 | KHks B 48 48 96| 15.6 | 80.4 598/ HH FEA 50 60 110]28.8 [81.2
549 ¥R Ui 50 52| 102/ 21.6 |80.4 590 |(JHiE 7 60 56 116/34.8 |81.2
550 | 4u)1| 1815 51 51 102]21.6 |80.4 TRE 600|JI[lF {B— 55 61 116]34.8 |81.2 HE
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T2 R RN T CHME3E. 0 &S, 0 [FLA—: T2 4 5 6 7 9
1 4 5 6 7 9
RS WIREA AaAT v b iX— 3 1 3 4 5 6 8
= — = 2N D BYETSIN ZMESS N AEF836A
NERFRETTE N T AR B—=v T
JEAZ ZINE K4 it P8 | GROSS| HDCP | NET | orossiiz ik JIEA7. ZINE K4 it 75 | GROSS| HDCP | NET |crossif &
601 | HEK Ha] 44 47 91| 9.6 |81.4 65181 fEA 54 51 105/ 22.8 |82.2
602 |5k FniA 53 50/ 103/ 21.6 |81.4 65211 H AW x 58 53 111]28.8 |82.2
603 | R 52 51 103/ 21.6 |81.4 653|845 24l 51 60/ 111]28.8 [82.2
604 |FH Hrhh 54 55 109/ 27.6 |81.4 654 |5 H BUZ 52 46 98| 15.6 | 82.4
605 7K Y= 58 51| 109|27.6 |81.4 HKE 655 15 50 54|  104|21.6 |82.4 HEE
606 &L =+ 55 54 109/ 27.6 |81.4 656 | &5k AME 50 54| 104|21.6 |82.4
607 | KAE F548f 52 57| 109]27.6 |81.4 657|382 B 5L 51 53 104/ 21.6 |82.4
608 | A5 1L fz 58 57 115/33.6 |81.4 658 = A& Ak 57 53 110/ 27.6 |82.4
609 fEL FA 56 59| 115/33.6 |81.4 659| KA HET 47 50 97/ 14.4 | 82.6
610 $p A ZFE 45 51 96| 14.4 | 81.6 RE 660 |ZA 5L= 54 43 97/ 14.4 | 82.6 HKE
611 A% Lk 48 54 102/ 20.4 |81.6 661 | AiiE FRAH 57 52|  109]26.4 | 82.6
612/NHA =51 55 47] 102]/20.4 |81.6 662 |88 EhE 54 55| 109]26.4 | 82.6
613 #%F HAE T 56 52 108/ 26.4 |81.6 663 |Y3E IEA 50 59 109/ 26.4 |82.6
614 |1ERE Rk 57 51| 108]/26.4 |81.6 664K I 59 50 109] 26.4 |82.6
615 |t Fofl 58 50/ 108/26.4 |81.6 RE 665 Nk +£— 56 53 109] 26.4 |82.6 RE
616 N H& 53 55| 108/26.4 |81.6 666 |)1|IK £— 51 58 109/ 26.4 |82.6
617)EH & 53 55 108]26.4 |81.6 667 [#J fdis 51 45 96| 13.2 | 82.8
618 ik H 59 49| 108]26.4 |81.6 668 | Ffi FRBA 51 51| 102/19.2 |82.8
619 A 3+ 59 55| 114]/32.4 |81.6 66951 B 56 46/ 102]19.2 | 82.8
620 |[MA FEZ 58 56| 114]/32.4 |81.6 RE 670|pkiiE o 52 50, 102]19.2 |82.8 RE
621 EE \WOH 54 60 114/32.4 |81.6 671 |prEs B+ 51 51 102/19.2 |82.8
6225%6H B 53 42 95/ 13.2 |81.8 672|153 & 46 56 102]19.2 |82.8
62311 x A G 42 53 95/ 13.2 |81.8 673 AR #BUE 52 50/ 102]19.2 |82.8
624 11N 15 W5 50 51 101]19.2 [81.8 6741l 1EZ 52 56 108]25.2 |82.8
625)11 F Fnz 56 45| 101]19.2 |81.8 TRE 675|fEr Bk 53 55 108] 25.2 |82.8 TRE
626 | Kk H— 51 50/ 101]/19.2 |81.8 676 |HilJR = 55 59 114]31.2 [82.8
627 R & 51 50 101]19.2 |81.8 67755H £S5 60 54|  114|31.2 [82.8
628 L)1l 5LE 47 60 107/ 25.2 [81.8 678|fnE o 54 60 114]31.2 [82.8
629 4K FH5 K 51 56| 107]/25.2 [81.8 679 BEH: Th— 42 53 95/12.0 |83.0
630 )11 #&Fn 53 54| 107/ 25.2 [81.8 TRE 680 | Z5HE B 51 50 101]18.0 [83.0 TE
631 | FBA 51 56 107| 25.2 |81.8 681 87K F 52 55/ 107/24.0 |83.0
632 |fTE8 BOF 55 52| 107|25.2 |81.8 6828k B 52 55 107|24.0 |83.0
633/5EH /) 60 53| 113/31.2 [81.8 683 |15 k% 56 51 107]24.0 [83.0
634|/MR FESD 53 47]  100| 18.0 [82.0 684| KA IEE 55 58 113]30.0 [83.0
635 B HE= 44 56 100| 18.0 |82.0 TRE 685 | Ei A FH 53 60 113/30.0 [83.0 RE
636 | R #EIA 50 50/ 100] 18.0 | 82.0 686 | BEH 5h 56 57| 113/30.0 |83.0
637|FH t~5 53 53| 106]24.0 |82.0 687 | K% FobH 63 56/ 119/36.0 |83.0
638)TfE —FE 1 58 48|  106/24.0 [82.0 688 |3 FRIK 50 44 94/ 10.8 |83.2
6391 H IR 52 54|  106/24.0 [82.0 689 [ FE Fih, 51 49/ 100/ 16.8 | 83.2
640 |5 BH— 47 59 106/ 24.0 [82.0 RE 690 | BFHT FEEE 56 50/ 106]22.8 |83.2 E
641 || PRAE 55 57| 112/30.0 [82.0 691 | RS Fe) 55 51| 106]22.8 |83.2
642 5 H 1% 54 58| 112/30.0 [82.0 692| BA BRE 53 53] 106]22.8 [83.2
643 |12 AN 21k 51 61 112/ 30.0 |82.0 693 |tE M 5 59 53] 112]28.8 [83.2
644 |57 % || JZ3= 58 54 112]30.0 [82.0 694 |1EiE 1% 62 56 118]34.8 [83.2
645 |FEH 2R 53 59| 112/30.0 |[82.0 TRE 695 | F A B 49 44 93| 9.6 |83.4 T
646 | Z2R% fA5L 53 46 99| 16.8 | 82.2 696 |F58 15 53 52| 105/ 21.6 |83.4
647 |k 15 49 50 99/ 16.8 |82.2 697 | A A+ 51 54| 105/21.6 |83.4
64810 1E 46 53 99| 16.8 | 82.2 698|101 FB5LA 46 59| 105/ 21.6 |83.4
649 B AR HESE 54 51| 105/22.8 [82.2 699 KT Fifd 55 50| 105/21.6 |83.4
650 |(FHiR AT 48 57| 105/22.8 |82.2 B 700 | FA[E B H] 58 47| 105/21.6 |83.4 TE
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SR 1.0 HRNT CHEME36.0 £0136. 0 [FLA—: T2 4 5 6 7 9
\ - 1 4 5 6 7 9
WA U T AaT Ay N— 3 1 3 4 5 6 8
fEH=a—=x  HJb W PN~ c BMETSIN M85 N A EFS836 A
EALIRE HE v T4 AFAH == 7
WEz | B A | b | PE | GROSS| HDCP | NET | swossiir (LEs] B | B KA B | b | V¥E |GROSS| HDCP | NET |ckosshir (L]
701 jt“ﬁ rﬁk% 58 53] 111]/27.6 |83.4 751 | 8P H B+ 60 62] 122]36.0 |86.0
702 T S 52 59 111/27.6 |83.4 752 EPH iR 60 49| 109| 22.8 | 86.2
;82 EJ;L%i_m 55 62 117/ 33.6 |83.4 753 =% B2 65 49| 114]27.6 |86.4
= - 52 46 ) ) 7
104 f@k ?;c - o2 gg ﬁ i zg g . 754 | H %niﬁ 54 60| 114|/27.6 |86.4 %
25 ) ) TRE 755 |FKAS Hifi 51 63| 114]27.6 |86.4 KE
706| fifid] [l 49 49 98] 14.4 | 83.6 756 [5EH VBT 55 58 113]26.4 |86.6
707 jﬁ%*ﬂ E@e 52 52 104/20.4 |83.6 757 | 0 60 59| 119]32.4 |86.6
;83 %% g;,éq 53 51 104]20.4 |83.6 758 {fﬁ% fﬁéj 63 55| 118]31.2 |86.8
W 55 49| 104|20.4 |83.6 7595 W 2 63 55| 118]31.2 |86.8
710 )i%%f);zﬁﬂ%% 53 51| 104]20.4 |83.6 RE 760 /9 FF A 59 58/ 117/30.0 |87.0 HKE
711 gﬁ T 49 54 103] 19.2 |83.8 761 |48 H NE 63 60/ 123/36.0 |87.0
T12| E K EE}% 56 53|  109]25.2 |83.8 762\l E kR 58 46 104] 16.8 | 87.2
;12 ;\(Eli Ejé 42 54 96| 12.0 | 84.0 T63| AR FEIK 59 51| 110]/22.8 |87.2
2 54 4 ) ) A Fkfim
TI5 B il 55 55 losl240 540 wE e S &
I = ; ; TEE 765 | KB 59 49| 108/ 20.4 |87.6 THEE
716 |k A 56 52| 108]/24.0 | 84.0 766 | AT =R 52 62 114]26.4 |87.6
7175435 #lﬁ 57 51| 108]/24.0 [84.0 767 |5 —hk 59 61| 120]/32.4 |87.6
T18 | kF 1L % 55 59| 114/30.0 |84.0 768/ 6] EfZ 62 58| 120]32.4 |87.6
719 H 5 Eﬁ 64 56| 120]36.0 |84.0 769 Tk HE 56 57| 113]25.2 87.8
720 1K HE— 54 59 113]28.8 |84.2 RE 70| HmA FH] 57 62 119/ 31.2 |87.8 THEE
721 |8 %9& 48 52|  100| 15.6 | 84.4 771 A B 61 51| 112/24.0 |88.0
;gg %i 1@%%[ 57 49| 106|21.6 [84.4 772 Bgiﬁ gL 58 60/ 118/30.0 |88.0
57 49| 106]21.6 |84.4 T3 KE % 63 61 124]36.0 |88.0
24| AR R 58 60 118]33.6 |84.4 WAELEE &3 67 57 124]36.0 [88.0
725| KA Zi 58 53| 111]26.4 |84.6 TRE 77558 H HHR 59 52|  111]22.8 [88.2 HKE
7262 H Jh 50 61| 111]26.4 |84.6 776( 1LY fEED 60 57| 117/28.8 |88.2
;g; 4}%% %f& 59 58| 117]32.4 |84.6 777 7@2 FB{%& 58 52| 110/ 21.6 |88.4
55 55| 110]25.2 |84.8 18| %E EfE 57 53| 110]/21.6 |88.4
7291l fEE 52 58| 110]25.2 |84.8 7191 H B 57 53| 110/ 21.6 |88.4
730 E}j@% H+ 58 58 116]31.2 |84.8 B 780 BE = 60 56 116]27.6 |88.4 RE
N A= 57 52 109/24.0 |85.0 781|571 Bwft 62 60/ 122/33.6 |88.4
;gg %JJEEI ?@i 48 61 109] 24.0 |85.0 782 [{FfE E 60 62| 122/33.6 |[88.4
56 59| 115/30.0 [85.0 783 HEm —ih 61 61 122]33.6 |88.4
734 8 57 45|  102| 16.8 | 85.2 784 |4 % IE3E 48 54| 102]13.2 [88.8
;gg ;ﬁz% %Za gg gé }(1)2 ;gg gg; TRE 785 E_EIH; H;E 56 52| 108/ 19.2 |88.8 RE
) ) 786 |{FHE b 52 54 106/ 16.8 |89. 2
;g; ik 1% 56 58| 114]28.8 |85.2 787 mgi e 63 61| 124]34.8 |89.2
R A 56 58| 114]28.8 [85.2 7883 THE Ho 56 61 117/ 27.6 |89. 4
739 @E’EEI EE: 54 66| 120]/34.8 |[85.2 M 789 M BEZ T 57 60| 117/27.6 |89.4
740 EEE! ?ﬁ%% 61 59 120] 34.8 |85.2 TRE 790 £ H 5 56 58 114]24.0 [90.0 HE
TALE R DTS 44 57 101] 15.6 |85.4 T91|JEX] 222 54 66 120]30.0 [90.0
;ig Eili ﬁ%;i 58 42| 100] 14.4 |85.6 792 | ?)II FEig 56 70 126]36.0 [90.0
St 56 50/ 106/ 20.4 |85.6 793 | FFH A — 63 63| 126/36.0 [90.0
744 KR Bkt 59 53| 112]26.4 [85.6 794 | EPIR 62 64| 126]36.0 |90.0
745 KM =+ 60 52| 112/ 26.4 [85.6 T 795 T
i NS E 63 49| 112/26.4 | 85.6 T 796 11;@,);% [%E 54 g? = 311 338 8(1):3 A
747 @jﬁ%ﬁ: J;Ej;.ﬂ 59 53| 112]26.4 [85.6 797 i Ih T 66 61| 127/36.0 [91.0
;ig %33 Eiﬂg 62 56 118/ 32.4 |85.6 798| H:H EEAER 61 59| 120]28.8 [91.2
= 60 57 117/ 31.2 | 85. I
o kﬁﬁﬂﬁﬁﬁ G0 i SL2 85 g . 799 | K (j:; 50 76 126 34. 8 91.2 M
e S5 ) ) FEE 800|HHAS =+ 62 55/ 117/ 25.2 |91.8 T E

8/ 9 = }L71§¥*|37<1‘§!7L:I—Z




20245 KB EL/aAR

H7TH @ 2024.6.30 16:51

BRfEEH H 12024406 H 14 H (43) ~ 2024406 H30H (H)
v RE 1.0 RN T CHME3E. 0 &S, 0 [FLA—: T2 4 5 6 7 9
1 4 5 6 7 9
RS WIREA SRy T AaAT v b iX— 3 1 3 4 5 6 8
fEH=a—A  H Jb W 2PN MBI ESS AN A EF836 A
BN EHE o v T 4 AFEAH ==
JIEASE SINE K4 =l 75 | GROSS| HDCP | NET | crossif eSS 57 SN K4 it 75 | GROSS| HDCP | NET |crosshifi &
801 ¥ H 1517 65 63| 128]36.0 [92.0
802 ‘= A RH HiL 60 68| 128/36.0 |92.0
803 HH & 63 64| 127]34.8 [92.2
804 /KA FHL 62 65| 127]34.8 |92.2
805 | FEHE 1A EH 56 64| 120/27.6 |92.4 HE
806 | JnE TR 65 61| 126/33.6 |92.4
807 | JLA ik 64 60 124]31.2 ]92.8
808 | N LI HBIA 69 55| 124]31.2 [92.8
809|Z2fk $R T 56 67 123]30.0 93.0
810/ = H 3 64 65 129]36.0 |93.0 RE
811 | K% JE5L 67 62| 129/36.0 |93.0
812|H A S 64 64| 128/34.8 [93.2
813 | 63 64| 127/33.6 |93.4
814|#t AR HT & 61 65 126]32.4 |93.6
815 fEH HH% 64 61| 125/31.2 |93.8 THEE
816 | Mg IHE 62 68/ 130/36.0 |94.0
817 |k 5+ 65 65| 130]/36.0 |94.0
818|EitE 57 68 125/ 30.0 |95.0
819 |4 H¥E 65 60 125/ 30.0 | 95.0
820 |#gH 1EZ 68 63| 131]/36.0 |95.0 FEE
821 |#hi% 1 63 67 130/ 34.8 | 95.2
822|[LIH #+ 68 64 132]36.0 |96.0
823|#FH FEH1 64 69 133]36.0 [97.0
824 /L HR 69 56| 125/27.6 |97.4
825 [ EAK 63 70 133]34.8 |98.2 TRE
826 | #1 65 62| 127/27.6 [99.4
827 | HY 5L%h 65 721 137/ 36.0 [101.0
828 [{EH s K 68 71 139]36.0 [103.0
829 |k LE 72 69 141]36.0 [105.0
830 |tk fHEkEH 77 66| 143]36.0 [107.0 R
831 HHa —4 71 60| 131|22.8 |108.2
832 {EFH P 68 77 145/ 36.0 [109.0
833 gk DY 72 73 145 36. 0 [109.0
834[dbJIl FEA 77 69| 146]36.0 [110.0
835|fH Wb 69 77 146| 36.0 (110.0 BB
836 i &1 81 73] 154]36.0 [118.0
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